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6.1,6.2,6.6,6.7 Quiz Review

Find each specified vector or scalar. Given: u=2i-5j, v=-3i+7j, and w=-i-6j
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5) Find the angle between vector v and vector w. Complete each step. .
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For each of the following, solve the triangle. Be sure to solve for both triangles if it is an
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11. The Leaning Tower of Pisa in Italy leans at an angle of about 84.7 degrees. The figure

shows that 171 feet from the base of the tower, the angle of elevation to the top is 50
degrees. Find the distance, to the nearest tenth of a foot, from the base to the top of the
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